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~ Dividing by 10s

Solve the equations.

1.360-6=____  1840:70=__
2.810-9=__ 2.420:70=__
3.240-3=__ 3.360:40=__
4. 640 = 8 = 4.630-90=__
5.250+5 = 5.240+-30=__
6.990-9=__ 6.490:70=__
7.960+12=__ 7.180+90=__

8.550+-5=___ 8560-80=__

9.720 +12 = 9.720+90=__

10.360-9=___ 10.450:50=__

Worksheet 3
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Dividing by 10s

Solve the equations.

1.360 =+ 6 = 60
2.810+9=90
3.240+-3=80
4. 640 +8 =80

5.250+5=50

6.990+9 =110

7.960 =12 = 80
8.550+5=110
9.720-+12=60

10. 360+-9 =40

Worksheet 3

1.840+70=12
2.420+70=6
3.360+-40=9
.630+90:=7
.240+30=8
.490+70=7
.180+90=2
8.560+80=7
9.720+90:=8

10.450+50=9




